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dA  = 0.0509A
dt
dA
A

              = 0.0509dt    


ln(A) = 0.0509t + c    

subs t = 0, A = 1250 so  ln(1250) = c

so that    ln  A        = 0.0509t
                   1250    
                   
    A     = 1250 e0.0509t 
  

Subs t = 5

A = 1250 e 0.0509×5
    = $1612.27                                          
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Continuous compounding interest can be calculated from a differential equation.

The differential equation, @ = Ar , represents the rate of increase on an amount, 4 dollars,

invested with an interest rate 7 for 7 years.

Sam invests $1250 at a fixed rate of 5.09% (» = 0.0509) per annum.

He does not withdraw any money, and the interest compounds continuously.

Solve the differential equation to find the amount Sam will have in the bank after 5 years.

Give the results of any integration needed to solve this problem.
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